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2-71. See below:

2.(4.0)and (0.-2)

‘7647

b.(3.0) and 0. 4)
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2-72. See below:
ax=12
bw=0
cx=-8
d. no solution
2-73. See below:
a.Ttis the slope of the line of best fit drawn on the graph. Its units are mpg/1000 pounds.
b. It is the y-intercept of the line of best fit. Its units are mpg.
. Moderately strong negative lincar association with no apparent outliers.
d. About 25 mpg
274. See below:

a Growth =S5, Fig0=3

b. Growth =2, y-intercept =3

c. Growth =3, y-intercept =14
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2-75. See below:

Days (x) 0 2 4 6 B
Height cm

30 [ 27 | 24 | ;| 18
»

2. No. OnDay 0 the height is not 0. If the number of days is doubled (or tripled), the height is not doubled (or tripled).

b. See answers in bold in table.





